1 2 3 4 5
| MATERIAL: .060" THICK, 302 OR 304 STAINLESS STEEL.
250 X 438 SLOT, TYP, 040 (.060)
2 FINISH: PASSIVATED PER SAE-AMS-2700. r
077+ 015 —=] f=—o &= : —
At 25— = | ?
¥
l 4'11 2,63
|
i 2X, 180 N
| T N
B T C——— >+
f N ? B
III _I
625 il :
|I| I
/ } Oju:r :
Nt | SPO-1303 K 2625
Q . 500 I:I _:
i 3.00 |
Q - 1
Q 1 !
625 |:| 7]#777% 77777 7)H77
Q N .
I I
- )Th SR § S S p— 19
III .
63 :J'E — 040 ( 060)
::I
4 n = ' — —
P | ?
FULL R., TYP.
N TYPICAL ¢ o ‘
END VIEW y——Cc——=-—-—-"—-"—-"—-"—" = -+
Q i
|
Q 4%, 180 — i !
|
Q il
Q il 2 625
': I
SPO-1305 il
|
I
L
ISO VIEW I
| ——————————y (—F————————"— -+
— 75 - 35— = = 25 (TYP.) L.\e
M
, Suit
BK-72 CONTENTS: ® e, CA 52602
el. -
PART NUMBER DESCRIPTION QTY Wobsiter crew oo o Com
Engineer - Production - Integration/ Subassembly - Logistics
SPO-1303 | FRONT RECESSED BRACKET Engineered Solutlons  UnidStates Mexco- China- Tawan
SPO-1305 REAR EXTENDED RECESSED BRACKET TOLERA/}/EES PART NUMBER : DESCRIPTION :
UNLE:
SCREW - FHMS #8-32 X .500, S8 12 OTHERWISE BK-72 RECESSED BRACKET KIT
NUT - HEX #8-32, SS 12
XX XXX | ANGLES | HOLES | DATE: FOR 260 SERIES
WASHER - FLAT #8, SS 12 T3 |00 < | = 005 02/10/12
WASHER - LOCK #8, SS 12 SHEET 1OF 1 COPYRIGHT © 2009 JONATHAN ENGINEERED SOLUTIONS
1 2 3 4 5




